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13. oS ¥ 9 gABCDE=AD // BC ¢l Althe]ZEolth, AB = AD = DC,
BC=2ADY 4, /B2 371=7

A D

@® 45° @ 50° ® 55° @)60° ® 70°

AD // BE, AB // DE°|E 2 gABED £ H AT o]t}
AB =DE, AD = BE

AD = BE = EC°|2 & ADEC+ A4Z}3o]1, AB//DE©|
B2 /B=/DEC = 60°°]t}.
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16. e 5 AT AL (T 0> 10l

@ 4n,7n, 9 © 4n ,5n,6n
® 10n,11n, 12n (@)nQ—l,Zn,nQ—l—l

®n?-1,n,n%+1

@ mP+1)2=nt+2n2+1,(n*-1)2+(2n)2 =n*+2n>+1
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17. o8 199 AABC oA /B =90° & o, x 9] S
5% tokd? (g 27h)

o6 @s 012 @i 618

172 = (23— x)2 +x2, 289 = 529-46x+2x%, x>~23x+120 =0
(x=15)(x=8) =0
Lx=1FEE=x=8




18. A ¥9] Qol7k 247t x— 1xx + 1 9 A7Fdo] E2hazrde] 57

9T v 9] k] W 2

D 1<x<?2 @ 2<x<3 ® 3<x<4

@)2<x<4 ® 4<x<6

ol Aoj= FolBZ x-1>0, x> 1
e = we| g > ujx] @
x=14+x>x+1°0A x>2

= AgolE g,

(x+1)2> 2%+ (x—1)2 of|A
x?—4x<0,x(x-4) <0

x> 10|82 x2 S U+H x < 40|},
J3ER SeE HAE2<x <4
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TEHEERIL AE=AF 7t HEEHF
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